Base Lin	e Item Deta	ail			Gardner M	. Bishop Inc.	Creame	r-Sanzari		uction Company,	IEW Construc	tion Group, Inc
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	1D01LAY	1	L.S.	Construction Layout	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$200,000.00	\$200,000.00	\$237,948.01	\$237,948.01
2	1D10MOB	1	L.S.	Mobilization	\$1,200,000.00	\$1,200,000.00	\$1,375,000.00	\$1,375,000.00	\$1,350,000.00	\$1,350,000.00	\$1,450,000.00	\$1,450,000.00
3	1G01SCH	1	L.S.	Progress Schedule	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00	\$12,500.00	\$12,500.00	\$8,793.35	\$8,793.35
4	1HFP025	1	L.S.	Fuel Price Adjustment (This is a NO BID, Lump Sum item for this contract. The Lump Sum price is \$25,000. Enter a Unit Price of \$25,000 as your bid for this item.)	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
5	N2B0001	37,899.00	L.F.	Removal of Existing Barrier	\$47.00	\$1,781,253.00	\$65.00	\$2,463,435.00	\$60.00	\$2,273,940.00	\$94.05	\$3,564,400.95
6	2B02REX	4,302.00	C.Y.	Roadway Excavation, Earth	\$70.00	\$301,140.00	\$100.00	\$430,200.00	\$90.00	\$387,180.00	\$105.21	\$452,613.42
7	2H00015	3,119.00	S.F.	Inlet Filter, Type 1	\$9.00	\$28,071.00	\$8.00	\$24,952.00	\$30.00	\$93,570.00	\$6.06	\$18,901.14
8	2L02SSC	200	L.F.	Sawcutting	\$15.00	\$3,000.00	\$10.00	\$2,000.00	\$30.00	\$6,000.00	\$15.91	\$3,182.00
9	3A12ABC	7,319.00	S.Y.	Aggregate Base Course, 12" Thick	\$60.00	\$439,140.00	\$32.00	\$234,208.00	\$43.00	\$314,717.00	\$26.74	\$195,710.06
10	3B01MAT	300	C.Y.	Controlled Low Strength Fill Material	\$120.00	\$36,000.00	\$125.00	\$37,500.00	\$130.00	\$39,000.00	\$291.00	\$87,300.00
11	3B01PJA	9,680.00	L.F.	Polymerized Joint Adhesive	\$2.00	\$19,360.00	\$0.60	\$5,808.00	\$0.65	\$6,292.00	\$4.12	\$39,881.60
12	3B080APA	1	L.S.	Asphalt Price Adjustment (This Is A NO-BID, Lump Sum Item For This Contract. The Lump Sum Price Is \$80,000. Enter A Unit Price Of \$80,000 As Your Bid For This Item.)	\$80,000.00	\$80,000.00	\$80,000.00	\$80,000.00	\$80,000.00	\$80,000.00	\$80,000.00	\$80,000.00
13	3B21SUP	2,625.00	Ton	Superpave Hot Mix Asphalt 25H 64 Base Course	\$135.00	\$354,375.00	\$130.00	\$341,250.00	\$60.00	\$157,500.00	\$169.03	\$443,703.75
14	3B26TAC	6,842.00	Gallon	Tack Coat	\$0.01	\$68.42	\$3.50	\$23,947.00	\$0.40	\$2,736.80	\$0.01	\$68.42
15	3B31CLS	5,082.00	L.F.	Cleaning Outside Shoulders	\$3.00	\$15,246.00	\$1.00	\$5,082.00	\$10.00	\$50,820.00	\$0.22	\$1,118.04
16	3B37SUP	9,149.00	Ton	Superpave Hot Mix Asphalt 12.5M76 Surface Course	\$130.00	\$1,189,370.00	\$130.00	\$1,189,370.00	\$145.00	\$1,326,605.00	\$153.17	\$1,401,352.33

Base Line	e Item Deta	ail			Gardner M.	Bishop Inc.	Creame	r-Sanzari		uction Company, nc.	IEW Construct	ion Group, Inc
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
17	3B42ASB	5,957.00	S.Y.	Membrane Waterproofing	\$25.00	\$148,925.00	\$27.00	\$160,839.00	\$28.00	\$166,796.00	\$29.68	\$176,803.76
18	3B46BCS	20	Each	Bituminous Core Samples	\$200.00	\$4,000.00	\$150.00	\$3,000.00	\$160.00	\$3,200.00	\$274.79	\$5,495.80
19	3E20PMR	52,930.00	S.Y.	Pavement Removal, Variable Depth	\$6.50	\$344,045.00	\$5.75	\$304,347.50	\$15.00	\$793,950.00	\$9.34	\$494,366.20
20	3F01MRS	76,560.00	L.F.	Milled Rumble Strip	\$0.30	\$22,968.00	\$0.30	\$22,968.00	\$0.75	\$57,420.00	\$0.16	\$12,249.60
21	4A00004	250	Each	Concrete Collar	\$1,200.00	\$300,000.00	\$1,300.00	\$325,000.00	\$1,500.00	\$375,000.00	\$1,762.06	\$440,515.00
22	4A04STC	2,972.00	C.Y.	Concrete In Footings	\$500.00	\$1,486,000.00	\$600.00	\$1,783,200.00	\$590.00	\$1,753,480.00	\$592.64	\$1,761,326.08
23	4A55CPS	190,706.00	S.F.	Concrete Penetrating SealerTreatment	\$1.00	\$190,706.00	\$1.25	\$238,382.50	\$1.60	\$305,129.60	\$1.65	\$314,664.90
24	4A55WRT	22,344.00	S.F.	Water Repellant Treatment	\$1.50	\$33,516.00	\$2.25	\$50,274.00	\$2.40	\$53,625.60	\$2.47	\$55,189.68
25	4002TSP	14,485.00	S.F.	Temporary Sheeting to Remain in Place	\$75.00	\$1,086,375.00	\$65.00	\$941,525.00	\$65.00	\$941,525.00	\$52.81	\$764,952.85
26	4R00020	518	S.F.	Concrete Repair, Type A	\$200.00	\$103,600.00	\$150.00	\$77,700.00	\$115.00	\$59,570.00	\$215.88	\$111,825.84
27	4R00021	1,396.00	S.F.	Concrete Repair, Type B	\$250.00	\$349,000.00	\$200.00	\$279,200.00	\$150.00	\$209,400.00	\$226.83	\$316,654.68
28	5B01CSD	9,705.00	L.F.	Cleaning Existing Storm Drains	\$4.00	\$38,820.00	\$4.75	\$46,098.75	\$4.50	\$43,672.50	\$3.30	\$32,026.50
29	5B12RC3	16	L.F.	12" Reinforced Concrete Pipe	\$110.00	\$1,760.00	\$90.00	\$1,440.00	\$350.00	\$5,600.00	\$116.13	\$1,858.08
30	5B15RC3	65	L.F.	15" Reinforced Concrete Pipe	\$130.00	\$8,450.00	\$90.00	\$5,850.00	\$170.00	\$11,050.00	\$115.92	\$7,534.80
31	5B18RC3	20	L.F.	18" Reinforced Concrete Pipe	\$135.00	\$2,700.00	\$110.00	\$2,200.00	\$253.00	\$5,060.00	\$123.00	\$2,460.00
32	5B21RC3	10	L.F.	21" Reinforced Concrete Pipe, Class III	\$170.00	\$1,700.00	\$150.00	\$1,500.00	\$161.00	\$1,610.00	\$129.71	\$1,297.10
33	5B24RC3	5	L.F.	24" Reinforced Concrete Pipe	\$200.00	\$1,000.00	\$160.00	\$800.00	\$1,050.00	\$5,250.00	\$135.15	\$675.75
34	5B24RC5	12	L.F.	24" Reinforced Concrete Pipe, Class V	\$205.00	\$2,460.00	\$150.00	\$1,800.00	\$820.00	\$9,840.00	\$132.57	\$1,590.84
35	5B30RC3	8	L.F.	30 " Reinforced Concrete Pipe, Class III	\$230.00	\$1,840.00	\$120.00	\$960.00	\$650.00	\$5,200.00	\$142.85	\$1,142.80
36	5B36RC3	6	L.F.	36" Reinforced Concrete Pipe, Class III	\$250.00	\$1,500.00	\$175.00	\$1,050.00	\$890.00	\$5,340.00	\$163.12	\$978.72
37	5B42RC3	15	L.F.	42" Reinforced Concrete Pipe	\$280.00	\$4,200.00	\$250.00	\$3,750.00	\$605.00	\$9,075.00	\$167.65	\$2,514.75
38	5C00065	10	Each	Inlet, Type SP-1	\$15,000.00	\$150,000.00	\$12,000.00	\$120,000.00	\$11,200.00	\$112,000.00	\$10,864.11	\$108,641.10
39	5C00066	3	Each	Inlet, Type SP-1W	\$15,000.00	\$45,000.00	\$11,500.00	\$34,500.00	\$12,300.00	\$36,900.00	\$11,560.61	\$34,681.83
40	5C00067	3	Each	Inlet, Type SP-2	\$9,000.00	\$27,000.00	\$9,000.00	\$27,000.00	\$8,000.00	\$24,000.00	\$9,509.92	\$28,529.76

Base Line	e Item Deta	ail			Gardner M. Bishop Inc.		Creamer-Sanzari		Ferreira Construction Company, Inc.		IEW Construction Group, Inc	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
41	5C00068	3	Each	Inlet, Type SP-2W	\$11,000.00	\$33,000.00	\$10,000.00	\$30,000.00	\$9,200.00	\$27,600.00	\$10,321.50	\$30,964.50
42	5C00069	1	Each	Reconstructed Inlet, Type SP-1, Using New Grate and Frame	\$15,000.00	\$15,000.00	\$10,500.00	\$10,500.00	\$14,000.00	\$14,000.00	\$14,182.23	\$14,182.23
43	5C00070	3	Each	Reconstructed Inlet, Type SP-3, Using New Grate and Frame	\$15,000.00	\$45,000.00	\$11,500.00	\$34,500.00	\$9,080.00	\$27,240.00	\$9,164.43	\$27,493.29
44	5C00071	24	Each	Reconstructed Inlet, Type SP-4, Using New Grate and Frame	\$7,000.00	\$168,000.00	\$5,000.00	\$120,000.00	\$5,000.00	\$120,000.00	\$4,846.35	\$116,312.40
45	5C01ND1	11	Each	Inlet, Type D1	\$5,000.00	\$55,000.00	\$4,500.00	\$49,500.00	\$5,000.00	\$55,000.00	\$7,804.92	\$85,854.12
46	5C20NP1	1	Each	Manhole, Type P-1	\$4,000.00	\$4,000.00	\$18,000.00	\$18,000.00	\$18,000.00	\$18,000.00	\$6,301.94	\$6,301.94
47	5C40RPI	320	S.F.	Repair Inlets	\$75.00	\$24,000.00	\$115.00	\$36,800.00	\$60.00	\$19,200.00	\$101.08	\$32,345.60
48	5C40RSF	121	Each	Reset Frame	\$650.00	\$78,650.00	\$375.00	\$45,375.00	\$400.00	\$48,400.00	\$687.09	\$83,137.89
49	5C55CDS	98	Each	Cleaning Existing Drainage Structures	\$120.00	\$11,760.00	\$150.00	\$14,700.00	\$300.00	\$29,400.00	\$219.83	\$21,543.34
50	5C60RIG	523	Each	Replace Existing Inlet Grate	\$250.00	\$130,750.00	\$425.00	\$222,275.00	\$800.00	\$418,400.00	\$657.16	\$343,694.68
51	5F00002	3,966.00	S.Y.	Concrete Island, 4" Thick	\$215.00	\$852,690.00	\$185.00	\$733,710.00	\$200.00	\$793,200.00	\$256.75	\$1,018,270.50
52	5H06CMB	1,682.00	L.F.	Concrete Median Barrier, Type 1	\$190.00	\$319,580.00	\$310.00	\$521,420.00	\$350.00	\$588,700.00	\$340.74	\$573,124.68
53	5H07CMB	80	L.F.	Concrete Median Barrier, Type 1 (TR)	\$240.00	\$19,200.00	\$300.00	\$24,000.00	\$300.00	\$24,000.00	\$329.75	\$26,380.00
54	5H08CMB	243	L.F.	Concrete Median Barrier, Type 1 (V)	\$240.00	\$58,320.00	\$220.00	\$53,460.00	\$300.00	\$72,900.00	\$241.82	\$58,762.26
55	5H09CMB	16,595.00	L.F.	Concrete Median Barrier, Type 1A	\$190.00	\$3,153,050.00	\$180.00	\$2,987,100.00	\$210.00	\$3,484,950.00	\$192.35	\$3,192,048.25
56	5H10CMB	10	L.F.	Concrete Median Barrier, Type 1B	\$190.00	\$1,900.00	\$190.00	\$1,900.00	\$200.00	\$2,000.00	\$208.84	\$2,088.40
57	5H11CMB	10	L.F.	Concrete Median Barrier, Type 1C	\$190.00	\$1,900.00	\$190.00	\$1,900.00	\$192.00	\$1,920.00	\$208.84	\$2,088.40
58	5H12CMB	10	L.F.	Concrete Median Barrier, Type 1E	\$190.00	\$1,900.00	\$185.00	\$1,850.00	\$183.00	\$1,830.00	\$202.25	\$2,022.50
59	5H13CMB	10	L.F.	Concrete Median Barrier, Type 1H	\$190.00	\$1,900.00	\$185.00	\$1,850.00	\$237.00	\$2,370.00	\$200.05	\$2,000.50
60	5H14CMB	800	L.F.	Concrete Median Barrier, Type 2	\$400.00	\$320,000.00	\$600.00	\$480,000.00	\$534.00	\$427,200.00	\$659.50	\$527,600.00
61	5H15CMB	10	L.F.	Concrete Median Barrier, Type 2A	\$860.00	\$8,600.00	\$625.00	\$6,250.00	\$683.00	\$6,830.00	\$686.98	\$6,869.80

Base Line	e Item Deta	ail			Gardner M.	Bishop Inc.	Creame	r-Sanzari	Ferreira Construction Company, Inc.		IEW Construction Group, Inc	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
62	5H16CMB	270	L.F.	Concrete Median Barrier, Type 2B	\$400.00	\$108,000.00	\$360.00	\$97,200.00	\$381.00	\$102,870.00	\$395.70	\$106,839.00
63	5H17CMB	13	L.F.	Concrete Median Barrier, Type 2C	\$400.00	\$5,200.00	\$490.00	\$6,370.00	\$507.00	\$6,591.00	\$538.59	\$7,001.67
64	5H18CMB	3,370.00	L.F.	Concrete Median Barrier, Type 3A	\$200.00	\$674,000.00	\$225.00	\$758,250.00	\$237.00	\$798,690.00	\$246.21	\$829,727.70
65	5H19CMB	330	L.F.	Concrete Median Barrier, Type 3C	\$250.00	\$82,500.00	\$195.00	\$64,350.00	\$207.00	\$68,310.00	\$214.34	\$70,732.20
66	5H20CMB	1,390.00	L.F.	Concrete Median Barrier, Type 3D	\$390.00	\$542,100.00	\$315.00	\$437,850.00	\$332.00	\$461,480.00	\$342.94	\$476,686.60
67	5H21CMB	10	L.F.	Concrete Median Barrier, Type 4	\$180.00	\$1,800.00	\$200.00	\$2,000.00	\$209.00	\$2,090.00	\$219.83	\$2,198.30
68	5H22CMB	10	L.F.	Concrete Median Barrier, Type 4A	\$180.00	\$1,800.00	\$300.00	\$3,000.00	\$330.00	\$3,300.00	\$323.16	\$3,231.60
69	5H23CMB	10	L.F.	Concrete Median Barrier, Type 4B	\$180.00	\$1,800.00	\$200.00	\$2,000.00	\$214.00	\$2,140.00	\$219.83	\$2,198.30
70	5H24CMB	10	L.F.	Concrete Median Barrier, Type 4D	\$180.00	\$1,800.00	\$215.00	\$2,150.00	\$225.00	\$2,250.00	\$236.32	\$2,363.20
71	5H25CMB	13,036.00	L.F.	Concrete Median Barrier, Type 5A	\$180.00	\$2,346,480.00	\$180.00	\$2,346,480.00	\$202.00	\$2,633,272.00	\$197.85	\$2,579,172.60
72	5J00004	50	Each	Beam Guide Rail Blockout	\$25.00	\$1,250.00	\$8.00	\$400.00	\$6.40	\$320.00	\$27.48	\$1,374.00
73	5J00FGT	5	Each	Flared Guide Rail Terminal	\$2,000.00	\$10,000.00	\$1,800.00	\$9,000.00	\$2,900.00	\$14,500.00	\$2,016.97	\$10,084.85
74	5J01PCA	3	Each	Parapet Connection, Type A	\$2,000.00	\$6,000.00	\$2,500.00	\$7,500.00	\$3,850.00	\$11,550.00	\$2,192.84	\$6,578.52
75	5J01RBG	444	L.F.	Removal of Beam Guide rail	\$3.00	\$1,332.00	\$12.00	\$5,328.00	\$3.00	\$1,332.00	\$3.30	\$1,465.20
76	5J01RGR	11,304.00	L.F.	Raise Beam Guide Rail	\$7.00	\$79,128.00	\$8.00	\$90,432.00	\$9.00	\$101,736.00	\$7.69	\$86,927.76
77	5J01RSG	4,386.00	L.F.	Reset Beam Guide Rail	\$10.00	\$43,860.00	\$6.00	\$26,316.00	\$9.00	\$39,474.00	\$10.99	\$48,202.14
78	5J51BGE	33	L.F.	Beam Guide Rail Element	\$20.00	\$660.00	\$10.00	\$330.00	\$7.00	\$231.00	\$19.79	\$653.07
79	5J51TTS	1	Each	Tangent Guide Rail Terminal	\$2,400.00	\$2,400.00	\$3,000.00	\$3,000.00	\$4,300.00	\$4,300.00	\$2,583.05	\$2,583.05
80	5J52BET	1	Each	Beam Guide Rail Buried End Terminal	\$3,200.00	\$3,200.00	\$1,800.00	\$1,800.00	\$2,700.00	\$2,700.00	\$3,423.91	\$3,423.91
81	5J52BGR	99	L.F.	Beam Guide Rail	\$20.00	\$1,980.00	\$20.00	\$1,980.00	\$27.00	\$2,673.00	\$21.43	\$2,121.57
82	5J54BGP	58	Each	Beam Guide Rail Post	\$85.00	\$4,930.00	\$50.00	\$2,900.00	\$48.00	\$2,784.00	\$93.43	\$5,418.94
83	5001CAW	230	Each	Delineator, Type CA-W	\$70.00	\$16,100.00	\$50.00	\$11,500.00	\$64.00	\$14,720.00	\$74.74	\$17,190.20
84	5001PAW	30	Each	Delineator, Type PA-W	\$65.00	\$1,950.00	\$35.00	\$1,050.00	\$64.00	\$1,920.00	\$66.50	\$1,995.00
85	5001PAY	30	Each	Delineator, Type PA-Y	\$65.00	\$1,950.00	\$35.00	\$1,050.00	\$64.00	\$1,920.00	\$66.50	\$1,995.00

Base Line	e Item Deta	ail			Gardner M.	Bishop Inc.	Creame	r-Sanzari		uction Company, nc.	IEW Construct	ion Group, Inc
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
86	5P06REM	1	L.S.	Striping and Marking Removal	\$190,000.00	\$190,000.00	\$135,000.00	\$135,000.00	\$257,000.00	\$257,000.00	\$217,635.31	\$217,635.31
87	5P10TMP	377,988.00	L.F.	Temporary Pavement Striping	\$0.35	\$132,295.80	\$0.33	\$124,736.04	\$0.40	\$151,195.20	\$0.36	\$136,075.68
88	5P20LLS	9,680.00	L.F.	Traffic Stripes, Long - Life, Epoxy Resin	\$0.75	\$7,260.00	\$0.75	\$7,260.00	\$0.80	\$7,744.00	\$0.82	\$7,937.60
89	5P21LLS	346,732.00	L.F.	Traffic Stripes, Long - Life, thermoplastic	\$0.55	\$190,702.60	\$0.53	\$183,767.96	\$0.60	\$208,039.20	\$0.58	\$201,104.56
90	5P31LLM	4,840.00	L.F.	Traffic Markings, Lines, Long - Life, Thermoplastic	\$0.55	\$2,662.00	\$0.53	\$2,565.20	\$0.60	\$2,904.00	\$0.58	\$2,807.20
91	5Q01FAL	1	L.S.	Furnish Field Office, Type A	\$40,000.00	\$40,000.00	\$50,000.00	\$50,000.00	\$35,000.00	\$35,000.00	\$42,780.34	\$42,780.34
92	5Q02MFA	27	Month	Maintain Field Office, Type A	\$2,500.00	\$67,500.00	\$2,000.00	\$54,000.00	\$2,500.00	\$67,500.00	\$2,899.76	\$78,293.52
93	5V01PIT	20	Each	Test Pits	\$800.00	\$16,000.00	\$1.00	\$20.00	\$548.00	\$10,960.00	\$381.93	\$7,638.60
94	5V02PIT	38	L.F.	Test Pit Extra Depth	\$270.00	\$10,260.00	\$1.00	\$38.00	\$175.00	\$6,650.00	\$63.65	\$2,418.70
95	5Y05RMM	20	Each	Relocate Tenth of Mile Marker and Post	\$40.00	\$800.00	\$90.00	\$1,800.00	\$65.00	\$1,300.00	\$40.67	\$813.40
96	5Y01MMC	110	Each	Mile Marker, Type MC	\$95.00	\$10,450.00	\$120.00	\$13,200.00	\$133.00	\$14,630.00	\$103.32	\$11,365.20
97	5Y01MMP	5	Each	Mile Marker, Type MP	\$160.00	\$800.00	\$90.00	\$450.00	\$170.00	\$850.00	\$175.87	\$879.35
98	5Y01MRB	20	Each	Mile Marker, Type RB	\$95.00	\$1,900.00	\$90.00	\$1,800.00	\$133.00	\$2,660.00	\$104.42	\$2,088.40
99	5Y01MRP	20	Each	Mile Marker, Type RP	\$85.00	\$1,700.00	\$90.00	\$1,800.00	\$133.00	\$2,660.00	\$93.43	\$1,868.60
100	5ZC01LTF	7,695.00	C.Y.	Lightweight Fill	\$125.00	\$961,875.00	\$125.00	\$961,875.00	\$59.00	\$454,005.00	\$114.02	\$877,383.90
101	5ZD01RPM	4,000.00	Each	Raised Pavement Markers	\$25.00	\$100,000.00	\$21.30	\$85,200.00	\$25.00	\$100,000.00	\$23.41	\$93,640.00
102	5ZM01FAS	1	C.P.	Force Account For Snow Removal. (This is a NO- BID, Lump Sum item for this contract. The Lump Sum price is \$52,000. Enter a Unit Price of \$52,000 as your bid for this item.)	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00	\$52,000.00
103	8A30MPT	2	Each	Furnishing Portable Variable Message Sign	\$30,000.00	\$60,000.00	\$10,000.00	\$20,000.00	\$17,000.00	\$34,000.00	\$763.87	\$1,527.74
104	8A01MPT	1	L.S.	Furnishing Traffic Control Devices	\$2,225,000.00	\$2,225,000.00	\$1,600,000.00	\$1,600,000.00	\$1,241,987.10	\$1,241,987.10	\$2,335,000.00	\$2,335,000.00
105	8A02MPT	2,640.00	M.H.	Traffic Directors	\$1.00	\$2,640.00	\$0.01	\$26.40	\$15.00	\$39,600.00	\$0.01	\$26.40

Base Line	e Item Deta	ail			Gardner M.	Bishop Inc.	Creame	r-Sanzari		uction Company, nc.	IEW Construc	struction Group, Inc	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	
106	N8A0009	1	Each	Furnishing Temporary Crash Cushion, Frangible Modular Type	\$1,000.00	\$1,000.00	\$3,500.00	\$3,500.00	\$5,400.00	\$5,400.00	\$4,209.25	\$4,209.25	
107	N8A00010	2	Each	Placing and Removing Temporary Crash Cushion, Frangible Modular Type	\$100.00	\$200.00	\$3,500.00	\$7,000.00	\$1,800.00	\$3,600.00	\$2,329.25	\$4,658.50	
108	N8A0012	3	Each	Furnishing Temporary Impact Attenuator, Quadguard	\$15,000.00	\$45,000.00	\$10,000.00	\$30,000.00	\$17,000.00	\$51,000.00	\$8,793.35	\$26,380.05	
109	N8A0013	11	Each	Placing And Removing Temporary Impact Attenuator, Quadguard	\$3,000.00	\$33,000.00	\$5,000.00	\$55,000.00	\$2,300.00	\$25,300.00	\$2,198.34	\$24,181.74	
110	8B01MPT	29,901.00	L.F.	Furnishing Concrete Barrier	\$1.00	\$29,901.00	\$60.00	\$1,794,060.00	\$23.00	\$687,723.00	\$17.14	\$512,503.14	
111	8B10MPT	73,076.00	L.F.	Placing and Removing Concrete Barrier	\$1.00	\$73,076.00	\$15.00	\$1,096,140.00	\$11.00	\$803,836.00	\$16.33	\$1,193,331.08	
112	8B15MPT	6,500.00	M.H.	Traffic Protection Patrol	\$25.00	\$162,500.00	\$1.00	\$6,500.00	\$80.00	\$520,000.00	\$48.00	\$312,000.00	
				Base Total		\$23,595,530.82		\$26,356,201.35		\$26,571,391.00		\$29,281,747.41	